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1 TSH > 6.5 | pu/ml TSH > 10 uu/ml TSH > 15 uu/ml
3 TSH > 7 uu/ml TSH > 10 | pu/ml TSH > 20 | pu/ml
. TSH > 8 uu/ml TSH > 10 pu/ml TSH > 30 uu/ml
or TSH = 97 %ile or FT4 < 0.95 ng/dl
, TSH = 8 uu/mi TSH > 10 pu/mi FT4 < 1 ng/dl TSH = 20 pu/mi
or TSH = 3 %ile
. TSH > 8 uu/ml TSH > 10 pu/ml TSH > 30 uu/ml
or FT4 < 0.9 ng/dl or FT4 < 0.9 ng/dl
1 TSH > 10 uu/ml TSH > 10 pu/ml TSH > 30 uu/ml
or TSH = 95 %ile
- TSH > 9 uu/ml TSH > 10 pu/ml TSH > 30 uu/ml
or TSH = 97 %ile
1 TSH > 97 %ile TSH > 9 pu/ml TSH > 25 uu/ml
or TSH = 9 pnu/mi
1 TSH = 8 pu/ml TSH = 8 uU/ml
or TSH = 97 %ile
1 TSH > 7 uu/ml TSH 10 pu/ml
or TSH = 97 %ile
1 TSH > 8 uu/ml TSH > 10 pu/ml TSH > 30 uu/ml
or TSH = 97 %ile
18 TSH = 9 uu/ml TSH = 9 uU/ml TSH = 40 uu/ml
or TSH = 95 %ile or TSH = 99 %ile
% TSH > 8 uu/ml TSH > 10 pu/ml TSH > 25 uu/ml
or TSH = 97 %ile
n TSH = 7 uu/ml TSH = 10 uU/ml TSH = 30 uu/ml
or TSH = 95 %ile
TSH = 10 uu/ml TSH = 10 uU/ml TSH = 30 uu/ml
2 or TSH = 95 %ile or FT4 < 1 ng/dl
or FT4 < 1 ng/dl
or FT4 < 5 %ile
23 TSH = 8 uu/ml TSH = 8 uU/ml TSH = 8 uu/ml TSH = 30 uU/ml
o TSH = 6.5 | pu/ml TSH > 10 pu/ml
or TSH = 96 %ile
5 TSH = 95 %ile TSH > s pu/ml TSH > 30 uu/ml
or TSH = 8 uu/ml
27 TSH > 10 uu/ml TSH > 10 uu/ml TSH > 30 uu/ml
28 TSH > 8 uu/mi TSH > 9 pu/mi TSH > 30 | pu/ml
or TSH = 96 %ile
2 TSH > 7 uu/mi TSH > 1 95 | uu/ml TSH > 20 | pu/ml
or TSH = 97 %ile
N TSH > 7 uu/mi TSH > 10 | pu/ml
or TSH = 95 %ile
a TSH > 10 ! pU/ml TSH > 10 | pu/ml TSH > 30§ uu/ml
or TSH > 95 %ile
32 TSH > 8 uu/mi TSH > 8 uu/mi TSH > 25 1 uu/ml
33 TSH > 9 uu/ml TSH > 9 uu/ml
34 TSH =1 85 | uu/ml TSH > 10 | pu/ml
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35 TSH = 8 uu/mi TSH = 10 pu/ml
or TSH = 95 %ile
36 TSH = 9 uu/ml TSH = 9 pu/ml TSH = 30 pu/ml
37 TSH = 6.5 uu/ml TSH = 7.5 pu/ml TSH = 30 pu/ml
18 TSH = 8 uu/mi TSH = 10 pu/ml TSH = 30 uu/ml
or TSH = 95 %ile
20 TSH = 6 uu/mi TSH = 10 pu/ml TSH = 15 uu/ml
or TSH = 97 %ile
TSH = 8 nu/ml TSH = 10 uU/ml TSH = 30 uu/ml | (FERARE HybADfEEN]
or HERE < 2000 g WAKE < 2000
2 & FTa <1 03 | ngd ;r oo o.7ng/gd|
or HERKE = 1 2000 g or HERE = | 2000 g
& FT4 < 1 ng/dl & FT4 < 0.5 ng/dl
3 TSH = 7 pu/ml TSH = 9.5 pU/ml
or TSH = 97 %ile
49 TSH = 9 uu/ml TSH = 9 uu/ml TSH = 30 uu/ml
4 TSH = 9.4 uu/mi TSH = 9.4 pu/ml TSH = 18.8 | pU/ml
or TSH = 97 %ile
o TSH = 7 uu/mi TSH = 10 pu/ml
or TSH = 95 %ile
66 TSH = 7 uu/ml TSH = 10 uU/ml TSH = 30 uu/ml
or TSH = 97 %ile or FT4 = 0.9 ng/dl
TSH = 10 uu/ml TSH = 10 uU/ml TSH = 30 uu/ml
60 or TSH = 5 uu/mi or TSH = 10 uu/mi
& FT4 < 0.7 ng/dl & FT4 < 0.9 ng/dl
or FT4 < 0.6 ng/dl or FT4 < 0.4 ng/dl
" TSH = 8 uu/ml TSH = 10 uU/ml TSH = 30 uu/ml
or TSH = 97 %ile
- TSH = 8 uu/ml TSH = 8 uU/ml
or TSH = 97 %ile
78 TSH = 7 uu/ml TSH = 9 uU/ml TSH = 30 uu/ml
or TSH = 95 %ile
TSH = 7 uu/mi TSH = 10 pu/mi TSH = 30 pu/mi
or FT4 < 1 ng/dl or FT4 < ng/dl or FT4 < 0.5 ng/dl
82 or FT4 = 35 ng/dl or FT4 = 4 ng/dl or FT4 = 5 ng/dl
or TSH = 95 %ile
or FT4 = 5 %ile
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1 17-OHP([& ) = 4 ng/ml 17-OHP(E ) = 4 ng/ml 17-OHP(IE ) = 4 ng/ml 17-OHP(#1H) = 10 ng/ml
3 17-OHP(E %) = 6 ng/ml 17-OHP(EE $%) = 6 ng/ml 17-OHP(E #%) = 4 ng/ml
6 17-OHP([& ) = 3.7 ng/ml 17-OHP(E ) = 4 ng/ml 17-OHP($ ) = 4 ng/ml 17-OHP(#1H) = 10 ng/ml
or 17-OHP(E %) = 95 %ile
17-OHP(E #%) = 4 ng/ml 17-OHP(HE $%) = 4 ng/ml 17-OHP(I H) = 4 ng/ml 17-OHP(E $%) = 20 ng/ml
7 or 17-OHP(#1H) = 8 ng/ml
& HAERE = | 2000 g
8 17-OHP(E %) = 5 ng/ml 17-OHP(IE $%) = 5 ng/ml 17-OHP(H#1H) = 4 ng/ml 17-OHP(#1H) = 10 ng/ml
17-OHP(I& ) > 5 ng/ml 17-OHP(E ) > 5 ng/ml 17-OHP(LCMS) > ng/ml 17-OHP(LCMS) > 20 ng/ml
10 or 17-OHP(E %) = 95 %ile & | (17-OHP+4-AD)/F | > 0.1 ratio or 21-DOF > 1 ng/ml
& 11-DOF/17-OHP < 0.3 ratio
. 17-OHP(E $%) = 4 ng/ml 17-OHP(IE 1%) = 4 ng/ml 17-OHP(3fi Hi) = 3.5 ng/ml 17-OHP(#1H) = 10 ng/ml
or 17-OHP([& ) = 95 %ile
17-OHP(E $%) = 97 %ile 17-OHP(E #%) = 4 ng/ml 17-OHP(LCMS) = 1.5 ng/ml 17-OHP(LCMS) = 5 ng/ml |EMEEEEEO. QEE5NRETZED.
1 or 17-OHP(E ) > 4 ng/ml & ! 11-DOF/17-OHP | =< 0.3 ratio | & 21-DOF > 1 ng/ml gi;g::ig-g:gﬂtgiggsf}g’;%fyl
& (17-OHP+4-AD)/F = 0.3 ratio & 11-DOF/17-OHP = 0.1 ratio ratio&(17OI—iP+4AD)/FratioZZ.O '
& | (17-OHP+4-AD)/F = 2 ratio
1 17-OHP(E %) = 4 ng/ml 17-OHP(E $%) = 4 ng/ml 17-OHP(E #%) = 1 ng/ml
or 17-OHP([& ) = 97 %ile or 17-OHP(IE %) = 97 %ile & 11-DOF/17-OHP = 0.3 ratio
1% 17-OHP(E %) = 4 ng/ml 17-OHP(E $%) = 4 ng/ml 17-OHP(E #%) = 3.5 ng/ml
or 17-OHP([E %) = 95 %ile
17-OHP(E #%) = 5 ng/ml 17-OHP(IE %) = 5 ng/ml 17-OHP(H1H) = 35 ng/ml 17-OHP(#1H) = 10 ng/ml |XHEEARE 150005k — FIEBHEZELLRV,
7 o 17-ORP(ETE) = % seile 150091k — 2000g5(330ng/mILL %4
18 17-OHP(E %) = 6 ng/ml 17-OHP(E $%) = 6 ng/ml 17-OHP(E #%) = 9 ng/ml 17-OHP(E 1) = 20 ng/ml
or 17-OHP([E %) = 95 %ile & 17-OHP([E %) = 20 ng/ml
2 17-OHP(E %) = 4 ng/ml 17-OHP(E $%) = 5 ng/ml 17-OHP(3f1 Hi) = 4 ng/ml 17-OHP(E 1) = 50 ng/ml
or 17-OHP(IE %) = 95 %ile or 17-OHP(3fi ) = 10 ng/ml
” 17-OHP(E %) = 4.5 ng/dl 17-OHP(E $%) = 45 ng/dl 17-OHP(E #%) = 2.5 ng/dl
or 17-OHP([E %) = 95 %ile
- 17-OHP(E #%) = 4 ng/ml 17-OHP(IE $%) = 4 ng/ml 17-OHP(H#1H) = 3 ng/ml 17-OHP(3f Hi) = 10 ng/ml
or 17-OHP([E %) = 95 %ile
17-OHP(E %) = 10 ng/ml 17-OHP(E %) > 10 ng/ml 17-OHP(E #%) = 10 ng/ml 17-OHP(E %) = 30 ng/ml |FERIBERCES T RIREEEMBEED DY MATE
23 or 17-OHP(HH) > 2 ng/ml | & 17-OHP(HIH) > 10 | ng/ml 7’_‘?’*‘2“
& FERRE R = 37 week | & TERRE = 37 week __jﬁfiﬁﬁw,:ijf(f Ly e
" 17-OHP(E 1%) = 6.5 ng/ml 17-OHP(E ) = 6.5 ng/ml 17-OHP(IE §) = 15 ng/ml
or 17-OHP([E ) = 95 %ile & 11-DOF/17-OHP = 0.4 ratio
’s 17-OHP(E #%) = 95 %ile 17-OHP(E ) = 10 ng/ml 17-OHP($i ) = 4 ng/ml 17-OHP(#i ) = 10 ng/ml
or 17-OHP([E ) = 4 ng/ml
27 17-OHP(E %) = 5 ng/ml 17-OHP(E {%) = 5 ng/ml 17-OHP(LCMS) > 1.8 ng/ml
28 17-OHP(E %) = 4 ng/ml 17-OHP(E %) > 10 ng/ml 17-OHP(E #%) = 4 ng/ml 17-OHP(E %) = 30 ng/ml
or 17-OHP([E %) = 95 %ile
29 17-OHP([E %) = 4 ng/ml 17-OHP(E %) = 4 ng/ml 17-OHP(H#1H) = 4 ng/ml 17-OHP(#1H) = 10 ng/dl |EMFEEDMERRIATOHES
30 17-OHP(E $%) = 4 ng/ml 17-OHP(& $%) = 4 ng/ml 17-OHP(E #%) = 3.5 ng/ml
or 17-OHP(E %) = 95 %ile
3 17-OHP(E $%) = 4 ng/ml 17-OHP(& $%) = 4 ng/ml 17-OHP(E #%) = 4 ng/ml 17-OHP(#1H) = 10 ng/ml
or 17-OHP(E %) > 95 %ile
32 17-OHP(E %) = 4 ng/ml 17-OHP(HE %) = 4 ng/ml 17-OHP(E 1) = 10 ng/ml
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33 17-OHP([& ) = 5 ng/ml 17-OHP(E ) = 5 ng/ml 17-OHP(IE ) = 4 ng/ml
34 17-OHP(E %) = 4.5 ng/dl 17-OHP(EE $%) = 5 ng/dl 17-OHP(E #%) = 5 ng/dl
35 17-OHP([& ) = 5 ng/ml 17-OHP(E ) = 5 ng/ml 17-OHP(E ) = 3.5 ng/ml
or 17-OHP(E %) = 95 %ile
36 17-OHP([& ) = 5.8 ng/ml 17-OHP(E ) = 5.8 ng/ml 17-OHP($ ) = 3 ng/ml 17-OHP(#1H) = 7 ng/ml
17-OHP(E %) = 4 ng/ml 17-OHP(E $%) = 4 ng/ml 17-OHP (1 H) = 3 ng/ml 17-OHP(E %) = 50 ng/ml
37 or 17-OHP(#1 ) = 8 ng/ml
& HAERE = 2000 g
38 17-OHP(I& ) = 5 ng/ml 17-OHP(E ) = 5 ng/ml 17-OHP($ ) = 3.5 ng/ml 17-OHP(I& %) = 20 ng/ml
or 17-OHP(E %) = 95 %ile or 17-OHP({#1H) = 10 ng/ml
20 17-OHP(HE $%) = 4 ng/ml 17-OHP(E %) = 4 ng/ml 17-OHP (31 Hi) = 3 ng/ml 17-OHP(3 ) > 10 ng/dl
or 17-OHP([E %) = 95 %ile
17-OHP(E $%) = 4 ng/ml 17-OHP(H $#) = 4 ng/ml 17-OHP(LCMS) = 1 ng/ml 21-DOF = 1 ng/ml
(17-OHP+4-AD)/F = 0.1 ratio or TERRE S < 37 week
42 11-DOF/17-OHP =< 0.3 ratio | & | 17-OHP(LCMS) =3 30 ng/ml
or TERRE S = 37 week
& 17-OHP(LCMS) = 20 ng/ml
43 17-OHP(E %) = 4 ng/ml 17-OHP(E $%) = 4 ng/ml 17-OHP(E #%) = 4 ng/ml
49 17-OHP(E 1%) = 5 ng/ml 17-OHP(1 ) = 4 ng/ml 17-OHP(#1H) = 10 ng/ml |EMFEARIBIOOVTRIRE R ZRRC
17-OHP(E #%) 2 5 ng/ml 17-OHP(E %) = 5 ng/ml 17-OHP(LCMS) = 2 ng/ml 17-OHP(LCMS) = 5 ng/ml |202148H~
or 17-OHP(E 1£) > ! o5 %ile (170HP+4-AD)/F | = | 02 | ratio | & | (I7OHP+4-AD)F | = | 02 | ratio |MNENSLC-MS/MSZTOAKNHIHET
54 11-DOF/17-0HP | = ! 04 | ratio | & | 11-DOF/17OHP | = | 04 | ratio Efﬁ%ﬁgﬁ”;j%g%g?ﬁ;i
or 17-OHP(LCMS) = 5 ng/ml
& 21-DOF = 1 ng/ml
5o 17-OHP([E %) = 3.5 ng/ml 17-OHP(E ) = 3.5 ng/ml 17-OHP(IE ) = 3.5 ng/ml
or 17-OHP(E %) = 95 %ile
66 17-OHP([E %) = 4 ng/ml 17-OHP(E ) = 4 ng/ml 17-OHP(#i ) = 3.5 ng/ml 17-OHP(#1 ) = 10 ng/ml
or 17-OHP(E %) = 95 %ile & HERE = | 2000 g
17-OHP([E %) = 5.5 ng/ml 17-OHP(E ) = 5.5 ng/ml 17-OHP(LCMS) = 25 ng/ml 21-DOF = 2 ng/ml
60 11-DOF/17-OHP = 0.2 ratio or 17-OHP(LCMS) = 50 ng/ml
(17-OHP+4-AD)/F = 0.1 ratio or 17-OHP(LCMS) = 20 ng/ml
& TERRE = 37 week
17-OHP(E #%) = 4 ng/ml 17-OHP(IE $%) = 4 ng/ml 17-OHP(3H) = 3.5 ng/ml 17-OHP(E $%) = 50 ng/ml |EMEEODY NATMEGHARE 20009
s or 17-OHP(E %) = 95 %ile (FERB#BSEL E)DFHERIOVTOEDT
74 17-OHP(E 1%) = 4 ng/ml 17-OHP(E ) = 4 ng/ml 17-OHP(IE §) = 1 ng/ml
or 17-OHP([E ) = 97 %ile or 17-OHP(E ) = 97 %ile 11-DOF/17-OHP = 0.3 ratio
28 17-OHP(E #%) = 4 ng/ml 17-OHP(IH $#) = 4 ng/ml 17-OHP(E $#) = 3.5 ng/ml 17-OHP(#1H) = 10 ng/ml [EHAERKRSIREMRC
or 17-OHP(E %) = 95 %ile or 17-OHP(IE %) = 95 %ile
& 17-OHP(E 1%) = 3.5 ng/ml 17-OHP($i ) = 3.5 ng/ml 17-OHP(#i ) = 10 ng/ml
or 17-OHP(E %) = 95 %ile or 17-OHP(IE %) = 20 ng/ml
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1 Gal = 3 mg/dl Gal = 4 mg/dl Gal = 10 mg/dl
or Gal-1-P = 14 mg/dl | or Gal-1-P = 15 mg/d|
3 Gal = 2.5 mg/dl Gal = 3 mg/d| Gal = 10 mg/dl
Gal = 2.5 mg/dl Gal = 3 mg/d| Gal = 10 mg/dl
6 or Gal = 95 %ile or T-Gal = 10 mg/dl
or T-Gal = 6 mg/dl | or Gal-1-P = 15 mg/dl
or T-Gal = 95 %ile
Gal = 3 mg/dl Gal = 3 mg/dl
7 or T-Gal = 10 mg/dl | or T-Gal = 10 mg/dl
or Gal-1-P = 15 mg/dl | or Gal-1-P = 15 mg/d|
Gal > 2.5 mg/dl Gal > 3 mg/d| Gal > 10 mg/d|
8 or Gal-1-P > 13 mg/dI or Gal-1-P > 15 mg/dl
4 b-3E (R )
10 Gal > 3 mg/dl Gal > 3 mg/dl BMEBENYNAT ¢ 7’)10“)@0;@‘ R
or Gal > 95 %ile or Gal-1-P > 15 mg/dl ®Gal>10mg/dIRiA b5—i& (EME) #HARL
1 Gal = 5 mg/dI Gal = 5 mg/dl Gal = 10 mg/dl |BIFERE : AORA MS—iE (EM) EHERU
or T-Gal = 6 mg/dl | or Gal-1-P = 15 mg/dl
13 Gal = 6.5 mg/dl Gal = 8 mg/dl Gal = 20 mg/dl
or Gal-1-P = 22 mg/dl | or Gal-1-P = 25 mg/dl
14 Gal = 2.5 mg/dl Gal = 3 mg/dl
or Gal-1-P = 13.5 mg/dl | or Gal-1-P = 15 mg/d|
16 Gal = 3 mg/dI Gal = 6 mg/d|
or Gal-1-P = 15 mg/dl
Gal = 2.5 mg/dl Gal = 3 mg/d|
17 or T-Gal = 6.45 mg/dl | or Gal-1-P = 15 mg/dl
or T-Gal = 97 %ile
Gal = 2.5 mg/dl Gal = 3 mg/dl
18 or T-Gal = 10 mg/dI or T-Gal = 12 mg/dl
AN (EN)
20 Gal = 3 mg/dl Gal = 3 mg/dl AR (E)
or Gal = 97 %ile
T-Gal = 4 mg/dI T-Gal = 7 mg/d|
21 or T-Gal = 95 %ile or Gal = 3 mg/dl
or Gal = 4 mg/dI or Gal-1-P = 10 mg/d|
-~ Gal = 3 meg/dl Gal = 3 mg/dl
or Gal-1-P = 10 mg/dI or Gal-1-P = 10 mg/d|
23 Gal = 3 meg/dl Gal = 3 mg/dl Gal = 3 mg/dl Gal = 8 mg/dl
24 Gal = 2 mg/dI Gal = 3 mg/d|
Gal = 95 %ile Gal = 3 mg/dl Gal = 3 mg/dl |BMFEIR(EGal 3mg/dIBLE & R4 hS—EE LR
25 or Gal = 3 mg/dl | or Gal-1-P = 15 mg/dl AN (EM)
or Gal-1-P = 15 mg/dl & AR (EH)
27 Gal = 3 mg/dI Gal = 3 mg/dl
28 Gal = 3 meg/dl Gal = 3 mg/dl Gal = 10 mg/dl
or T-Gal = 10 mg/dl or Gal-1-P = 15 mg/d|
Gal = 3 meg/dl Gal = 6 mg/dl Gal = 20 mg/dl
29 or T-Gal = 7 mg/dl or Gal-1-P = 15 mg/d|
or Gal 2 95 %ile
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10 Gal = 4 mg/dl Gal = 4 mg/dl
or Gal = 95 %ile
Gal = 3 mg/dl Gal = 5 mg/dl
31 or T-Gal = 5 mg/dl | or Gal-1-P = 15 mg/dl
or T-Gal > 97 %ile
32 T-Gal = 9.5 mg/d! T-Gal = 9.5 mg/d| T-Gal = 9.5 mg/dl |EMEEODY MATEITFOEOTY,
33 Gal = 3 mg/dl Gal = 3 mg/d|
34 Gal = 2.5 mg/dl Gal = 3 mg/dl
or Gal-1-P = 15 mg/dl | or Gal-1-P = 15 mg/d|
35 Gal = 2.5 mg/dI Gal = 3 mg/dl
or Gal = 95 %ile or Gal-1-P = 15 mg/dl
36 Gal = 3 mg/dl Gal = 3 mg/dl Gal = 8 mg/dl
Gal = 25 mg/dl Gal = 3 mg/dl Gal = 10 mg/dl
37 or Gal-1-P = 12 mg/dl | or Gal-1-P = 15 mg/dl
or T-Gal = 10 mg/dl A -E(EH)
Gal = 2.5 mg/dl Gal = 3 mg/d|
18 or Gal = 95 %ile or Gal-1-P = 15 mg/dl
or T-Gal = 8 mg/dI
or T-Gal = 95 %ile
20 Gal = 6 mg/dl Gal = 6 mg/dl Gal = 6 mg/dl |BMFEE @ & RAMS—3E BBt
or Gal = 95 %ile & AR (EH)
2 Gal = 3 mg/dl Gal = 3 mg/dl Gal = 10 mg/dl |(FESRRRE hy b ADMEEN]
or Gal-1-P = 15 mg/dl | or Gal-1-P = 15 mg/d|
Gal = 3 mg/dI Gal = 6 mg/dl
43 or T-Gal = 7 mg/dl | or Gal-1-P = 15 mg/dl
or Gal = 95 %ile
49 Gal = 3 mg/dl Gal = 3 mg/dl Gal = 10 mg/dl
54 Gal = 6 mg/dI Gal = 6 mg/dl Gal = 12 mg/dl
T-Gal = 6 mg/dl Gal = 3 mg/dl
59 or T-Gal = 95 %ile or Gal-1-P = 15 mg/d|
or Gal = 6 mg/dl
P Gal = 3 mg/dI Gal = 6 mg/d| Gal = 6 mg/dl
or T-Gal > 6 mg/dl | or Gal-1-P > 15 mg/dl 4 M—E(ETE)
69 Gal = 6 mg/dl Gal = 6 mg/dl & 45— (ETE) AN (EM)
or Gal-1-P = 18 mg/dl | or Gal-1-P = 18 mg/dl IE A5t & IE A5tk
n Gal = 4 mg/dl Gal = 4 mg/d| Gal = 10 mg/dl EU\EE?J‘{ Fﬁjl@&g@iﬁ%ﬁll )
or Gal > 99 %ile DYDY NEISHERD L &AREIIC
71 Gal = 2.5 mg/dI Gal = 3 mg/d|
or Gal-1-P = 13.5 mg/dl | or Gal-1-P = 15 mg/dl
T-Gal = 95 %ile Gal = 4 mg/d| Gal = 10 mg/d|
78 or T-Gal = 6.4 mg/dl | or Gal-1-P = 15 mg/dl
or Gal = 3 mg/dI
Gal = 2.5 meg/dl Gal = 3 mg/dl Gal = 10 mg/dl
82 or T-Gal = 6 mg/dl or Gal-1-P = 15 mg/d|
or T-Gal 2 95 %ile




